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Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image21.jpg]


Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

1
Shapes A and B are regular pentagons. 


The width of B is 4 times the width of A.


The perimeter of B is 48 cm.

Work out the perimeter of A.
........................................

 (2 marks)

2
Find the reciprocal of 0.2.

........................................

 (1 mark)

3
Work out:

a
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........................................

 (2 marks)

b
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........................................

 (2 marks)

4
Identify two triangles that are congruent.


Give a reason for your answer. 
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 (2 marks)

5
Use the graph to solve the simultaneous equations x – 2y = 4 and y + x = 1.
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(2 marks)

6
Write each of these as a single power.

a
(32)4
........................................

 (1 mark)

b
55 ÷ 5–4
........................................

 (1 mark)
7
Write each of these as a single column vector.

a

[image: image5.wmf]43

74

-

æöæö

+

ç÷ç÷

-

èøèø


........................................

(1 mark)

b

[image: image6.wmf]410

24

æöæö

-

ç÷ç÷

-

èøèø


........................................

 (1 mark)

8
Write down a vector that is:

a
parallel to 
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 but three times as long

........................................

 (1 mark)

b
the same length as 
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 but acts in the opposite direction.
........................................

 (1 mark)
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9
On this sketch graph, P is the point (1, 3) and Q is the point (8, 7).
a
Work out the vector 
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Give your answer as a column vector.
........................................

 (2 marks)

b
Write 
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 as a column vector.

........................................

 (1 mark)
10
Calculate 
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Write your answer as a mixed number.

........................................

 (3 marks)

11
Work out the value of:

a
60

........................................

 (1 mark)

b
5–1

........................................

 (1 mark)

c

[image: image12.wmf](

)

2

2

3

-


........................................

 (2 marks)

12
a
Write the number 2.8 ( 10–4 as an ordinary number.

........................................

 (1 mark)

b
Write the number 32 000 000 000 in standard form. 

........................................

 (1 mark)

c
Work out 4 ( 106 ( 7 ( 104.


Give your answer in standard form. 

........................................

 (2 marks)
13
You are given that:
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t = 4.8 ( 107 


v = 3.2 ( 104

Find the value of s. 


Give your answer in standard form, correct to 3 significant figures. 

........................................

 (3 marks)
14
Solve the simultaneous equations.

2x + 3y = 7


4x – 3y = 5

x = 


y = 


(4 marks)
15
Triangle ADE is similar to triangle ABC. 
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a
Find the size of angle ACB.

........................................

 (1 mark)

b
Work out the length of EC.

........................................

 (4 marks)
16
a
Complete this table of values for 
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	x
	0.5
	1
	2
	3
	4
	5
	6

	y
	
	3
	1.5
	1
	
	
	0.5


(2 marks)
b
On the grid, draw the graph of 
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 (2 marks)

17
Make x the subject of each formula.

a
y = 2x + 5

........................................

 (1 mark)

b
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........................................

 (2 marks)
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